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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 

June, 2012 

ELECTIVE COURSE : PHILOSOPHY 

BPY-003 : ANCIENT AND MEDIEVAL WESTERN 
PHILOSOPHY 

Time : 3 hours 
	

Maximum Marks : 100 

Note : (i) 	Answer all five questions. 

(ii) All questions carry equal marks. 

(iii) Answers to question no. 1 and 2 should be in 

about 400 words each. 

1. Define philosophy. How do the different branches 20 

of philosophy complement each other ? Explain. 

OR 

Elucidate the five ways of Aguinas proving the 20 

existence of God. 

2. Explain the 'allegory of cave' in reference to the 20 

platonic idea of knowledge. 

OR 

Give a detailed exposition of the epicurean ideas 20 

on knowledge and ethics. 
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3. 	Answer any two of the following in about 
200 words each 

(a) Explain Metaphysics as a branch of 10 
philosophy. 

(b) Differentiate wisdom from knowledge. 	10 

(c) What is the idea of Heraclitus on the union 10• 
of opposites ? 

(d) Explicate the Socratic ideas on ethics. 	10 

	

4. 	Answer any four of the following in about 
150 words each : 

(a) What is Ockham's razor ? 	 5 

(b) What is the empirieist method used in 	5 
philosophy ? 

(c) Distinguish between 'a priori and 'a 	5 
posteriori. 

(d) Explain Existentialism. 	 5 

(e) What are the three orders of beings 
according to Avicenna ? 

(f) Differentiate Deduction from Induction. 	5 
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5. 	Write short notes on any five of the following in 

about 100 words each : 

(a) Abstraction 	 4 

(b) Dualism 	 4 

(c) Apeiron 	 4 

(d) Idea 	 4 

(e) Universal 	 4 

(f) Essence 	 4 

(g) Contingency 	 4 

(h) Qntology. 	 4 
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3. 	&-4 	dTik 	 -1 	3-clt 7PTIT 

200 qiet -T 11 *91 'MfKR I 

(a) gq`-Rii - 	III 	I 	1 dcci4-11.-ilth  	10 
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	10 

(c) flt17117 	1:1 71-89 (union of 10 
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(d)zl "111-C-RM-=4 	eql(Sql TINtk I 	10 
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(b) ft I qui-r W---A7 I 	5 

(c) '1-4f- 	t 3rRIVrAW -41 	Wr--4 I 	5 

(d) 3-TfRia-og 	TINR I 	 5 

(e) 3 d 

	

	gRI -5R7 Trd* c vr-{1 T 7--u 	5 

7I  

(f) -1 4 1 4-1 -1 74 31-Frgrff 	l4 I 	 5 

BPY-003 	 6 



5. (rriwr ioo ql.q) fettruft fffrlsg I 

(a) 50114-01 4 

(b)  

(c)  

(d)  

4 

4 4c44 

(e)  kfil11-4 4 

(f)  TER (Essence) 4 

(g)  31TtiTfa*dT 4 

(h)  -1114 4 

BPY-003 7 


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

